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MM 5B 07ABASIC MATHEMATICAL ANALYSIS
Part A
Multiple Choice Questions

1. Find the number of elements in the power set of the set (positive divisors of 12)
(A) 6. (B) 2.
(C) 64. (D) 16.

2. Findthevalueofl+4+7+...+(3n-2)

(A) n (n +1). (B) 3(321)
1
© s (D) 2n (3n +1).

3. Find the No. of relations from A = (a, b, c} to B = (1, 2) :
(A) 6. (B) 2°.
(C) 28 (D) 22

4. LetAandBbeanysetsAcBif f

(A) AnBC ol (B) A cBA
(C) A UB=B- (D) A\B=4¢.
5. Let the function f:lll R be defined as
3x-1if x=3
f(x){x* -2 if —x<x<3;find f(-1)
2x 438 If x<-2
(A) -4 (B) 1.
© -1 (D) 0.

6. Let f:-*IR defined f(x)=x?+2x find (fo.f.) (2)

(A) 80, (B) 82.
(C) 8. (D) 64.



7. Countable union of countable sets is

(A) Countable. (B) Uncountable.

(C) Cannot be determine. (D) Finite.

8. The set of natural numbers has

(A) Upper bound. (B) Lower bound.

(C) Maximal element. (D) None of these.
9. Are the following statements always true ?
(A) If A'is finite, A is bounded. (B) If A is a subset of [-6, 10], A is finite.
(C) If Ais infinite, A is bounded. (D) If A is subsets of [-6, 10], A is unbounded.

10.  Write which of the following set/sets are unbounded

E={x/x=(%);nEN}

F={x/x=3”;neN}

6= ere=() snen]

H={x/xe >< <2576}
A) E. (B) G.
(©) H. (D) F.

11. Let f: X — Y be a function, A ¢ x and B ¢ Y which of the following is true ?

A Fa(fAa)c A. ®) B cf(f (B)
(C) f(f_ (B)=Bif f isonto. (D) f(¢ (B))=Bif f isonetoone
12.  The set of all real numbers n satisfying the inequality (x* — 3 is given by
(A) {xeR|-2<x<2}, (B)
A X

13. If two sets W and V are bounded. Then Wu V is
(A) Bounded. (B) Unbounded.

(C) Either unbounded or bounded. (D) Cannot be determine.
Turn over



- n
14. lim 1+~2~] =
n

n—co
(A) e2. (B) 2e.
(©) 4. (D) 2.

15. LetR-h (1, 5), (4,5), (3, 7), (7, 6)). Then the range of R is :
(A) (5, 6, 7. B) (1, 4, 3, 71.
(©) {1,4,3,7, ¢}. (D) £}

16. Which of the following set is bounded ?

(A {XE lll:x<3). (B) {xeER:x= 2%} for a positive number of k}
1
(C) {1,3.,5,...}. (D) 12, %4-14
17. Which of the following set is non-denumerable ?

(A) Set of all polynomials with integer coefficients.
(B) The set of all algebraic numbers.
(C) The closed interval [0, 1].
(D) The set of all points in the plane with rational co-ordinators.
18. The power set of Z is:
(A) Countable. (B) Uncountable.
(C) Finite. (D) Countably infinite.
19. Let A =(all real numbers that are not integers)
B = (all integers that are multiple of 31 then :
(A)  There is a one-one function from A to B but not from B to A.
(B) There is a one-one function from B to A but not from A to B.
(C) There is a one-one function from A to B and also from B to A.
(D)  There is a one-one function neither from A to B nor from B to A.
20. Which of the following sets is uncountable ?
(A)  The set of all natural numbers.
(B) The set of all irrational numbers.
(C) The set of all integers.
(

)
D) The set of all finite subsets of the set of all rationales.
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